S.S.C–Mathematics. (Guess Paper)

Paper – II       

Time: ½ Hr.



Part-B




Marks: 15

Name of the Student ………………………………………………….. Roll No………


NOTE:-
a) Each question carries ½ marks.



 b) Answers are to be written in the question paper only.



 c) All questions are to be answered.

 d) Marks will not be given for over written, re-written or erased answers.

      I)     Write the CAPITAL LETTERS showing the answer in the brackets provided against each question.
1. In 
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, the internal bisector of 
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 meets BC at D, such that AB=6cms,
AC=4cms and DC=2cms then BD= ….……cms 
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A) 3


 B) 4


C) 5


D) 6
2. Two circles of radii 5cms and 4cms touch externally. Then the length of their 

direct common tangent is ………………………..
cms
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A) 5


B) 
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C) 
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D) 0
3. The angle made by the line 
[image: image5.wmf]340

xy

-+=

 with the +ve direction of x-axis …..
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B) 
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4. The distance of the point from the origin to
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D) 
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5. For a given data Mean = 
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 and Median = 
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 then Mode = …………..
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[image: image18.wmf]ba

-



C) 
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C) 
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D) 
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7. The value of 
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 in terms of 
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8. If 
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 then AB = …….
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D) -I 
9. If 
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 is a singular Matrix then 
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A) 2


B) 6


C) -6


D) -4
10. third generation computers consists of ………………..



(
)

A) vacuum tubes
B) Transistors

C) I.C’s

D) V.L.S.C

[image: image36.wmf]II) Fill in the blanks with suitable answers.
11. 
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DD

:

. If AB=3cms, PQ=4.5cms then the ratio of the perimeters 

of 
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and 
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 is ……………………………………....
12. If ‘d’ is the distance between the centres of two circles of radii ‘R’ and ‘r’  and 
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 then the number of common tangents are ……………..…….

13. 
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 and 
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 are perpendicular then p = ………………….
14. Area of the triangle enclosed between the co-ordinate axes and the 

line 
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15. 
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16. 
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17. If 
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18. If 
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19. Expand COBOL …………………………………………………

20. Machine language is known as …………………………………………….

III) For the following questions under Group-A , choose the correct answers from the master list (Group-B) and write the letter of the correct answer in the brackets provided against each item.


GROUP – A





GROUP - B

21. 
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23. Median of first 10 natural numbers is ……
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C) 
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24. 
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D) 
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25. The angle in the semi-circle is 
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E) 5.5
F) 0
G) 
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H) 1
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26. Slope of the line 
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I) 0, 1
27. (2, 3), (p, 5) and (3, -1) are collinear then p = ….
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J) Median
28. The Most frequent observation in the data is ….
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K) 
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29. The length of the transverse common tangent is ….
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L) 
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30. BIT
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M) Mode
N) 
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